MA 174 EXAM II 04,/01/2011
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Name: — rpUOID: Section:

SHOW ALL YOUR WORK. NO CALCULATORS, BOOKS, OR PAPERS ARE
ALLOWED.

Points awarded
1. (10 points)
2. (10 points)
3. (10 points)
4. (10 points)
5. (15 points)
6. (10 points)
7. (10 points)
8. (10 points)

9. (15 points)

Total Points:




1. (10 points) Find an equation for the tangent plane of the surface
ze¥ + cos (zy) +y — 2% = In2
at point (0,In2,1).
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2. (10 points) Find (g—:)y at point (z,y,z) = (0,1, ) if

w =2 + 9> + 2* and ysinz + zsinz = 0.
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3. (10 points) Use Taylor’s formula to find a quadratic approximation of f(z,y) = e**7V at
(0,0).
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4. (10 points) If the derivative of f(z,y) at a point P in the direction of i+ j is 3v/2 and in
the direction of i — j is 2v/2, what is the gradient of f(z,y) at the point P?
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5. (15 points) Find all critical points of function
flz,y) =2* +9* —day + 1

and identify each as a local maximum, local minimum or saddle point.
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6. (10 points) Set up an iterated triple integral that gives the volume of the tetrahedron
in the first octant bounded by the coordinate planes and the plane passing through
(1,0,0),(0,2,0) and (0,0, 3). Do NOT evaluate the integral.
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on of the integration for the integral f02 f:;z f(z,y)dydz and
write an equivalent integral with the order of integration reversed.
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8. (10 points) Evaluate lnzfv (2772 eV& 2 dudy,
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9. (15 points) Find the greatest and smallest values that the function f(z,y) = 2> + 17
takes on the disc 2% + 3% < 1.
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